Chapter 9 Assignment
















2 C8H18 + 25 O2    16 CO2 + 18 H2O






1.  How many moles of oxygen are needed to react with 6.0 mol of C8H18?




2.  How many moles of oxygen are needed to react with 90.0 mol of H2O?




3.  How many moles of C8H18 are needed to react with 0.5 mol of oxygen?






Zn + 2 HCl    ZnCl2 + H2







4.  How many moles of hydrogen are produced from the reaction of 8.0 moles of zinc with an excess of hydrochloric acid?






K3PO4 + Al(NO3)3    3 KNO3 + AlPO4






5.  How many moles of KNO3  are produced when 4.0 moles of K3PO4 react?



2 KClO3    2 KCl + 3 O2








6.  How many moles of oxygen are produced from the decomposition of 5.0 moles of potassium chlorate?






C3H8 + 5 O2    3 CO2 + 4 H2O







7.  How many moles of carbon dioxide can be produced from 0.50 moles of C3H8?






N2 + 3 H2    2 NH3








8.  How many moles of hydrogen are needed to completely react with 1.5 moles of nitrogen?

2 CO + O2    2 CO2


9.  How many grams of CO is needed to react with 1 mole of O2?

2 H2O    2 H2 + O2
10.  How many grams of water are needed to produce 64g of oxygen?

C3H8 + 5 O2    3 CO2 + 4 H2O

11.  What mass of C3H8 is needed to completely react with 2.5 moles of oxygen?
N2 + 3 H2    2 NH3
12.  What mass of nitrogen is needed to produce 3 moles of NH3?

2 KBr + Cl2    2 KCl + Br2
13.  How many grams of bromine are produced when 6.0 moles of KCl are produced?
Zn + H2SO4    ZnSO4 + H2
14.  How many moles of ZnSO4 is produced from 98g of H2SO4?
2 HgO    2 Hg + O2
15.  64 grams of oxygen will be produced from the decomposition of how many moles of HgO?
CaO + H2O    Ca(OH)2
16.  How many moles of water are needed to completely react with 28g of CaO?
2 H2O    2 H2 + O2
17.  How many moles of oxygen will be produced during the production of 16g of hydrogen?
2 HCl + CaCO3    CaCl2 + H2O + CO2
18.  400 grams of CaCO3 will react with how many moles of HCl?
HCl + NaOH  H2O + NaCl
19.  How many grams of NaCl will be produced when 22.85 g of HCl are neutralized by an excess of NaOH according to the equation below? 

2KNO3(s)  2KNO2(s) + O2(g)

20.  How many grams of potassium nitrate are required to produce 5.00 g of potassium nitrite according to the equation below?

2Mg + O2  2MgO  

21.  How many grams of magnesium oxide are produced when 10.00 grams of magnesium burn in an excess of oxygen, as shown below?

2Al(s) + 3CuCl2(aq)  2AlCl3(aq) + 3Cu(s)

22.  How many grams of aluminum would react completely with 17.50 grams of copper (II) chloride according to the following equation?

Zn  +  2HCl  H2  +  ZnCl2
23.  If 20.0 g of zinc react with excess hydrochloric acid, how many grams of zinc chloride are produced? 




2KClO3    2KCl  +  3O2 

24.  Calculate the number of grams of oxygen that could be produced by heating 9.70 g of potassium chlorate?




Cu  +  2AgNO3    2Ag  +  Cu(NO3)2         

25.  How many grams of copper are required to replace 4.00 g of silver nitrate which is dissolved in water?  

26.  Answer questions 21-25 in molecules instead of grams. 

2Al + 3Cl2  2AlCl3
27. How many grams of aluminum chloride could be produced from 34.0 g of aluminum and 39.0 g of chlorine gas? How much of the non-limiting reactant will be left over.

Al2S3 + 6H2O  2Al(OH)3 + 3H2S
28. Suppose 316.0 g aluminum sulfide reacts with 493.0 g of water. How much aluminum hydroxide can be produced? What mass of the excess reactant remains?
29. If my theoretical yield is 10.5 grams and my experimental yield is 8.2 grams what is my % yield?

H2SO4  H2O + SO3
30. If I start with 89 grams of sulfuric acid and produce 7.1 grams of water, what is my percent yield?
